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C—band accelerator module: Es=31.50 0 @ \|1:45

Amplitude = 4.328 Energy Gain = 42.228
PhaseOffset= 1874.942 Accel Field = 43.884
Baseline = 0.025

Beam Position [mm]
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C—band accelerator module: Es= 3| 60¢v @ \1:56

Amplitude = 4.424 Energy Gain = 43.160
PhaseOffset=  429.258 Accel Field = 44.854
Baseline = 0.101
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C—band accelerator module: Es=31.7v & @ 2

Amplitude = —4.562 Energy Gain = —44.503
PhaseOffset= 970.430 Accel Field = -46.249
Baseline = 0.123
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C—band

Amplitude
PhaseOffset

BaseLine

Beam Position [mm]

accelerator module: E;ig‘x,%b KU @ \2:00

= —4.469 Energy Gain = —43.600
= 970.147 Accel Field = —45.311
= 0.101
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C—band accelerator module: Es=31Gc W @ \2:w

Amplitude = -4.551 Energy Gain = —44.403
PhaseOffset=  608.593 Accel Field = —46.145
BaseLine = 0.090 _

Beam Position [mm]

llll'lllllll|l|llll|lll

lllillllllllllll

Acceleration Phase [deg]




